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Question Id : 92090615693 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

URd dfed [ay & &g qarl o gdl i o} sefiawy &t 9oft & a1 o1 w&ar g | i, 98l T &1
oY &1 iR HgI S Udhdl 6, Ol de I9D! dg4, st 3iyar Al ol Fi 4 81 | Wryifds &y
¥ U ISR & U H w6l o SR gy arf &ty F off R firerdr 8 | WRd o 3R
i &1 a1 @ e el ¢ | GRaR § gl &t dradid | 3961 gxaay gulaar ufaafa
21 81 ¥g 315 ¢ & "emRl & uRewa oo uRafdd 81 381 §, =g 9rrgq: 3 Iuda fufa
Bl g1 Tl B ST fa5dn &1 01 WiHifde ¥4 ¥ U ofidl ¢ | 98 ey &1 =i ud
e g | fay & aym it 3 F el o1 | gl & go 7 oifts uRepa gl
e | I afoid ud arelia Weal b1 UG el gial | 38 UbR D! HINT H WHE SaTd Usal
&1y S g g | Iareony, R urdl gy nfgansit & e § g ok gu wdam @1
WA HfYd HId & ol AiATd UIg: T8 31T’ &1 Wh Hdl 6 |

it &3 H uvgl-yol-Ha & ofR \f=R, 94, T¥gRI THdr aafdd $fR Yad &1 37 s
ol Yl & | YUSI-YSIRT 3 Wrg: Suies SR Uda-Hdl HIST &1 WA dl § Sdid 3°D1
o1 & e 31 fa-itd Hd | drcid $d € | 38 UPR 3 Ridl R aHl &1 | 7 o
=R BIa1 8 | Iaeud, YRd & 3=l & § uifife $ wwua A ara g 91 & fore
WHHd 1 FF IR WA HAar] §1 U8 av 91 § & 3o s sTeml &1 9epd &1
IHE 81 € 3R d 3MY< Td YF HINT &1 WG Hd ¢ | O U S0 &l Hre SHfds T
1t 98T a1 | ST S0 & U S%pd 1 1 I 1999 ® ol fay & $s o i | ot
I U Ud Faried HiRnsi Ui, dfed o &1 91 uiiis Tesf & e srawgs 7
ST g

Sub questions

Question Number : 1 Question Id : 92090615694 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¥l B JBY &1 1 Hgl Aldl g ?

(1) 3¢ 2) g™
(3) HHH ) Ty
Options :

92090662001. 1
92090662002. 2
92090662003. 3
92090662004. 4



Question Number : 2 Question Id : 92090615695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRd oI 221 § el &1 die o1 S fufa 82

(1)  dreict 2 e

3) Wge 4) glgead
Options :

92090662005. 1
92090662006. 2
92090662007. 3
92090662008. 4

Question Number : 3 Question Id : 92090615696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et &t HreT Rt 1 gan & it gt &2

(1)  HAFEAISd (2) HHA
(3) uRpd 4) famy
Options :

92090662009. 1
92090662010. 2
92090662011. 3
92090662012. 4

Question Number : 4 Question Id : 92090615697 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qUET-YoIdl avf Urg: &t HIST &1 UG B 62

(1) 3iu=ie g 9w (2) SHETEIRNG
3)  oMuEie SR yag=d (4) WAy
Options :

92090662013. 1
92090662014. 2
92090662015. 3



92090662016. 4

Question Number : S Question Id : 92090615698 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STEIV ¥ & ToTU foheesT 1 awg & § ?

(1)  HMNI &I (2) HEpd &I
(3)  SUTUR &I @) f=dtar
Options :

92090662017. 1
92090662018. 2
92090662019. 3
92090662020. 4

Question Id : 92090615693 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

YR dfed [a% & &3 qaral d gdl B ol sy &t Joft & a1 &1 9&ar g | 4, 98l T &l
oY &1 AR HE o hd 6, 9l de I9D| dgd, st sy Al ol F&i 4 81 | wWryifas &y
U 39 UBR & AW H Wi 3 3R go8 aif &t uren | off s fadr € | YRd o i o
i @) dia &1 I3 g A1 € | URaR § 9Nl @ arddid § 391 gaad gofaar ufaef2id
21 81 ug 31w ¢ & "e Rl # ulewa oo uRafdd 81 381 €, =g amrga: 3l Iudad fufa
21 8| Wl @1y o fasar &1 701 Wivifds €9 9 Ui Sdl ¢ | 98 e &1 -] Y
S a el g | fay & a3 F et @ et geel @ qo | oifte uspa gl
| 399 afvld ud areeliel real &1 WaNT el 8idl | 331 UHR 3! US| FRIH Sard Wsal
&1 U S gial g | Iareony, R ureh gy nfgansit & Wei § q ok g wdam &1
WA Y HId & ol HigAd UIh: Fd1H 31T &1 WG Hdl © |

T & T quel-Yal-dd vl SiR Af<R, 9, TgRT olHdld odfad 3R Had &1 a7 s/l
ol W&l ¢ | YUST-Uois] 37 urd: Sfiu=ies SR Uad-Tall UTs1 &1 Wl $dl § ol 39d!
qo1 H Had oS f-iid H1d J Siadid $3d € | 341 UPR 3FS Rdl W el &1 Hw H off
=R 81 8 | I, YRd & 3=l & § uifife g wua S ara g 97 & fore
WOHd 1 JF MR WA HAari §1 U8 3av 91 § [ 3ien BT sTeml &1 §¥hd &1
IHE 81 € 3R d MY Td Y HINT &1 WG Hd ¢ | O U S0 &l TSl 3Hfdd T
i 98T a1 | ST SR & U SShd 1 31 I 1999 F ol fay & $s o= x| 4
II! U Ud i el i, dfed ofife &1 91 uifiss Tesf & fore srawas wF
&G



Sub questions

Question Number : 1 Question Id : 92090615694 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il @1 YBY &1 ¢ Sl aIdl ¢ ?

(1) 3= (2) ST
(3) HHH @) Ty
Options :

92090662001. 1
92090662002. 2
92090662003. 3
92090662004. 4

Question Number : 2 Question Id : 92090615695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR oIY =N H Rl & die &1 Hal Rl 82

(1) UEdl 2 g

3) WWge (4) QA ge Tl
Options :

92090662005. 1
92090662006. 2
92090662007. 3
92090662008. 4

Question Number : 3 Question Id : 92090615696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et &t HrT Rt 1 gan H i gt &2

(1)  HAFEAISd (2) HHA
3) uRspd @) famp
Options :

92090662009. 1
92090662010. 2



92090662011. 3
92090662012. 4

Question Number : 4 Question Id : 92090615697 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UUEST-YoIR] a1 UTg: &l HINT &1 YAHT B 67

(1)  Siiu=ive 9 9mg (2) SHETEING
3)  SN=Re® iR yaa=adt (4) UpaFy
Options :

92090662013. 1
92090662014. 2
92090662015. 3
92090662016. 4

Question Number : 5 Question Id : 92090615698 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STV a7 & foTu fhueT I e § 2

(1)  HETI (2) HWPpd DI
(3) MR HI @) =<
Options :

92090662017. 1
92090662018. 2
92090662019. 3
92090662020. 4

Sub-Section Number : 2
Sub-Section Id : 920906509
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090615699 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



QI S 91 GHY 87

(1) ddey (&) &=
(3) SemdivE 4) HHYRY
Options :

92090662021. 1
92090662022. 2
92090662023. 3
92090662024. 4

Question Number : 6 Question Id : 92090615699 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YITY’ B T GHY 87

(1)  ddeH (2) &&=
(3)  SemdivE (4) SHYRY
Options :

92090662021. 1
92090662022. 2
92090662023. 3
92090662024. 4

Question Number : 7 Question Id : 92090615700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el Wsg (Jifd) &1 95 fHfog;
A dY+ I - IYE
B. g+ 3WBI— <dIwal
C. FUl+ 3T HU

D. ¥+ JaRl - HaR

E. AR+ $W > Hew
19 fau U fadedl ¥ a8 Iugdd IR B 98 DI
(1) SHddATB
(2) HadcC
(3) adD
(4) dd EDC
Options :

92090662025. 1
92090662026. 2
92090662027. 3
92090662028. 4

Question Number : 7 Question Id : 92090615700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el Wsg (Jifd) &1 95 fHfog;
A dY+ I - IYE
B. g+ 3WBI— <dIwal
C. FUl+ 3T HU

D. ¥+ JaRl - HaR

E. HAig+ 30 - AW
19 fau U fadedl ¥ a8 Iugdd IR B 98 DI
(1) SHddATB
(2) HadcC
(3) adD
(4) dd EDC
Options :

92090662025. 1
92090662026. 2
92090662027. 3
92090662028. 4

Question Number : 8 Question Id : 92090615701 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a9l 13l & dI H i 9 fohan B 2

(1) 3fPHS (2) THHSD
(3) WeES (4) WG
Options :

92090662029. 1
92090662030. 2
92090662031. 3
92090662032. 4

Question Number : 8 Question Id : 92090615701 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qul g g g d &F 9l fpar g 2

(1) sHs (2) UHHS
(3) HeHd (4) Hgad
Options :

92090662029. 1
92090662030. 2
92090662031. 3
92090662032. 4

Question Number : 9 Question Id : 92090615702 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ufyst AR @1 3ifle Wy de AR AT g1 ugdl | Suied a1 H ey &1 HIH-Hl
e &:

A WA
B. Y4 di
c. MiyaaE
D. FOI® aE™

E o arey
42 feu e faseai # | 9 IR &1 994 Difre:

(1) DdB
(2) BdC
(3) had A
(4) &dd E
Options :

92090662033. 1
92090662034. 2
92090662035. 3
92090662036. 4

Question Number : 9 Question Id : 92090615702 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

ufeyt A B it e deb AR AT g1 Usdl | Suiad a1 | a1 &l $I-4l
O

A, WA

B. YUY di

c. MiEam

D. TG Al

E 3P ey

1 feu v fawedi # § 9gl IR &1 994 Difei:

(1) DdB
20 BdC
(3) dd A
(4) &dd E

Options :

92090662033. 1
92090662034. 2
92090662035. 3
92090662036. 4

Question Number : 10 Question Id : 92090615703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | & 91y g 11 @ e S

-1 (M) T -l (I)
(A) R 3Rl
B g®l a Ree
(€ Sl (i g\
(D) Yemed! 1v) TWHR

i< fou u fasedl 7 9 wel I &1 95 SIS
(1) (A1), (B)-(IN), (Q)-(1), (D)-(IV)
(2)  (A)-(V), (B)-(ln), (C)-(In. (D)-()
(3) (A, (B)-(IV), (C)-(1), (D)-(I1)
(4)  (A)-(), (B)-(I). (©)-(IV), (D)-(llN)

Options :

92090662037. 1
92090662038. 2
92090662039. 3
92090662040. 4

Question Number : 10 Question Id : 92090615703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & 91y Gt 1 1 e sifse

-1 () T -1l (T3)
(A) R (I  SHRT
® Tl a fRee
(€ Sl any g
(D) YeiTredl (V) TR

i< fou 7 fasedl 7 9 Wel I &1 954 BT
(1) (A=), (B)-(I1), (O)-(1), (D)-(IV)
(2)  (A)-(IV), (B)-(Il), (C)-(ID), (D)-()
(3) (A, (B)-(IV), (C)-(1), (D)-(IN)
(4) (A=), (B)-(I). (©)-(IV), (D)-(lN)

Options :



92090662037. 1
92090662038. 2
92090662039. 3
92090662040. 4

Question Number : 11 Question Id : 92090615704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 14 YRT & 3P 12 km B Gl TP G H 77 Bl 8 7T YRT D1 Ufdpd 6 km DI ¢l
U He H 00 B § | YRT B k/h B &:

(m 2 (2 3
(3) 4 @) 5
Options :

92090662041. 1
92090662042. 2
92090662043. 3
92090662044. 4

Question Number : 11 Question Id : 92090615704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U A1d YRT &b 3P 12 km B g3l U U H 00 dal ¢ a4 YRT B Ufdpd 6 km Bi
U ©e B qg Bl & | 4RI Dt M km/h T &

(1, 2 (2) 3
3) 4 “4) 5
Options :

92090662041. 1
92090662042. 2
92090662043. 3
92090662044. 4

Question Number : 12 Question Id : 92090615705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



x=3F T £ +x' -~ +x—1 BIHA BN ;

(1) 280 (2) 270
B 290 (4) 300
Options :

92090662045. 1
92090662046. 2
92090662047. 3
92090662048. 4

Question Number : 12 Question Id : 92090615705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

x=3F T £ +x' -~ +x—1 BIHA BN ;

(1) 280 (2) 270
B 290 (4) 300
Options :

92090662045. 1
92090662046. 2
92090662047. 3
92090662048. 4

Question Number : 13 Question Id : 92090615706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o7 & & o9 319 991 B1 YST4 HHLL: 30 cm, 40 cm T41 50 cm § | $9 41 9491 1 foaaraR
& AU G Bt Yol (cm H) J1d B |

(1) 60 (2) 120
(3) 90 4) 80
Options :

92090662049. 1
92090662050. 2
92090662051. 3
92090662052. 4



Question Number : 13 Question Id : 92090615706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT & §91 1 31 591 DT YOI HHY: 30 cm, 40 cm AU 50 cm § | 34 A1 941 &1 foeraras
& AT G DI Yl (cm H) J1d B |

(1) 60 (2) 120
(3) 90 (4) 80
Options :

92090662049. 1
92090662050. 2
92090662051. 3
92090662052. 4

Question Number : 14 Question Id : 92090615707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3ifdrd 1 31U 3T BIS WR T 42,580 Bl GIGRI § W=g 98 PHdd 212,580 Bl & Ul g | T3
Ahgig ST B dIN® & 10% &I, dl 4 T UYTq 39 WR fda-1 agR! gnfi?

(1) 42,580 (2) 43,000
(3) 343,923 (4) T44,228
Options :

92090662053. 1
92090662054. 2
92090662055. 3
92090662056. 4

Question Number : 14 Question Id : 92090615707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3ifdrd 1 31U 3T BIS WR T 42,580 Bl GIGRI § W=g 98 PHdd 212,580 Bl & Ul g | T3
Ahgig ST B dIN® & 10% &I, dl 4 T UYTq 39 WR fda-1 agR! gnfi?

(1) 42,580 (2) T43,000
(3) 43,923 (4) T 44,228



Options :

92090662053. 1
92090662054. 2
92090662055. 3
92090662056. 4

Question Number : 15 Question Id : 92090615708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fopefl a%q ®1 250 ¥ 994 W g3 g1 ufawrd aur 270 & 999 IR g3 arH Uia=d iR € |
T UR g1 1Y 1 21+ wfcera 8

(1 10% (2) 12%
Zg 1
(3) 163;-3 4 83%
Options :

92090662057. 1
92090662058. 2
92090662059. 3
92090662060. 4

Question Number : 15 Question Id : 92090615708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el a%g ®1 250 ¥ 999 W g3 g1 ufawd aur 270 & 999 IR g3 a1 Uiaed SR € |
X WR 31 1Y 1 21 wferd &

(1 10% (2) 12%
24 1
(3) 16 3 7o 4) 8 3 %
Options :

92090662057. 1
92090662058. 2
92090662059. 3
92090662060. 4

Question Number : 16 Question Id : 92090615709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

TSl & W H STl W 1 g1 2

0, 5, 22, 57, 116,

(1) 216 (2) 205

(3) 207 (4) 192
Options :

92090662061. 1
92090662062. 2
92090662063. 3
92090662064. 4

Question Number : 16 Question Id : 92090615709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yw13il & oA | 3{Tell Hee &1 gl 2

0,5, 22,57, 116,

(1) 216 (2) 205

(3) 207 (4 192
Options :

92090662061. 1
92090662062. 2
92090662063. 3
92090662064. 4

Question Number : 17 Question Id : 92090615710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 & 4 39 A B &9 W 9gg HellHifa Ukdd 3l &

A 3MTEH!, AN, fRifém
B. AGHIU®, Sidcy, i

C. I, FB, THRA
D. Ul Ugrsl, oi'd
E.  dIdmaRul, ofd, glggie
19 fg MU faeedl 7 ¥ el IR B I9- Sifele:
(1) PIdARB
(2) FIUBSRD
(3) FAAASNRD
(4) Pad C3ARE
Options :

92090662065. 1
92090662066. 2
92090662067. 3
92090662068. 4

Question Number : 17 Question Id : 92090615710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 & 4 39 A B &9 W 9gg HellHifa Ukdd 3l &

A 3MTEH!, AN, fRifém
B. AGHIU®, Sidcy, i

C. I, FB, THRA
D. Ul Ugrsl, oi'd
E.  dIdmaRul, ofd, glggie
19 fg MU faeedl 7 ¥ el IR B I9- Sifele:
(1) PIdARB
(2) FIUBSRD
(3) FAAASNRD
(4) Pad C3ARE
Options :

92090662065. 1
92090662066. 2
92090662067. 3
92090662068. 4

Question Number : 18 Question Id : 92090615711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T3 (X) & 9q ufafera &1 ugai-u|

ICERSS
(1) / (2) :
(3) . (4) )

Options :

92090662069. 1
92090662070. 2
92090662071. 3
92090662072 4

Question Number : 18 Question Id : 92090615711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T3 (X) & 9q ufafera &1 ugai-u|

ICERSS
(1) / @) .
(3) : (1) )

Options :

92090662069. 1
92090662070. 2
92090662071. 3
92090662072. 4

Question Number : 19 Question Id : 92090615712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe ue FfEd U9 & GRASP &1 BMVNK forar 9IidT 8, df 9aisU fF CRANE &1 &9 feran
STET?

(1) FUDQH (2) GVERI
(3) HWFS) (4) BQZMD
Options :

92090662073. 1
92090662074. 2
92090662075. 3
92090662076. 4

Question Number : 19 Question Id : 92090615712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gfe ue Y W91 & GRASP &1 BMVYNK forar 9irar 8, @ 9arsu ff CRANE &1 & feran
I

(1) FUDQH (2) GVERI
(3) HWFS) (4) BQZMD
Options :

92090662073. 1
92090662074. 2
92090662075. 3
92090662076. 4

Question Number : 20 Question Id : 92090615713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BIH-T1 HAT U ansfi &1 S2idr g ot 7 df Th& 8 3R 7 8 YRd?

UGG A Adl
(s

HILET

(1) 3 (2) 6
3 2 @) 4

Options :

92090662077. 1
92090662078. 2
92090662079. 3
92090662080. 4

Question Number : 20 Question Id : 92090615713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HIF-TT HIT OH Aaneii &1 SUidr g ol 9 a1 T § 3R 7 8 YRdy?

()

HIECH

(1 3 @ 6
3 2 4 4

Options :

92090662077. 1
92090662078. 2
92090662079. 3
92090662080. 4

Question Number : 21 Question Id : 92090615714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hed, Joidl H g8 IS v s g A fhaa ga=g Ritd erged 2022 &1 Sffan

(1) 3ferel &l (2) IAMGS
(3) Uidl =y (4) WEHET Agdrd
Options :

92090662081. 1
92090662082. 2
92090662083. 3
92090662084. 4

Question Number : 21 Question Id : 92090615714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hed, Il H gl IS 3y defiie g A fha g9 Ritd erged 2022 &1 Sffan

(1) Sf=rel &l (2) IAM G
(3) Widl Ry (4) WA dgdrd
Options :

92090662081. 1
92090662082. 2
92090662083. 3
92090662084. 4

Question Number : 22 Question Id : 92090615715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4. RragaR 3w o 3gid O3 2022 H g3l des o:

(m g (2) "W
(3) Tl (4) THIS
Options :

92090662085. 1
92090662086. 2
92090662087. 3
92090662088. 4

Question Number : 22 Question Id : 92090615715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4. RragaR Wi [T Sgia 73 2022 # gafl, e o:

(1) Sgd 2 IR
(3) GEGU (4) TS
Options :

92090662085. 1
92090662086. 2
92090662087. 3
92090662088. 4



Question Number : 23 Question Id : 92090615716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRd &I Had Tl 119 YISy A5 &9 -1 gR1 91idd gidl 62

(1)  Ram=g tdfeaw (2 GAIL
(3) ONGC (4) WHRd Udifergn
Options :

92090662089. 1
92090662090. 2
92090662091. 3
92090662092. 4

Question Number : 23 Question Id : 92090615716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRd & I8 vl 719 U3y a1 69 F9-1 gR1 =1ferd sidt 82

(1) Ream= odfaan (2) GAIL
(3) ONGC (4) HRd UcIergH
Options :

92090662089. 1
92090662090. 2
92090662091. 3
92090662092. 4

Question Number : 24 Question Id : 92090615717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3T § B Tt a%g Ia ufa=rd Sussd 1 off g&dl o7

(1)  3fafRy @=
(2) Hid Sl ddd
(3) UgHATH $H
(4) HEAS
Options :

92090662093. 1



92090662094. 2
92090662095. 3
92090662096. 4

Question Number : 24 Question Id : 92090615717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST 9§ B 4t g% Ia ufaerd desed 1 off 96l 67

(1) 3y G

(2) PP ddd

(3)  UcgHIHEH $

4) HISAS
Options :

92090662093. 1
92090662094. 2
92090662095. 3
92090662096. 4

Question Number : 25 Question Id : 92090615718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FYF | “TAHIH 3R ITY Y GHI3H & BRI &1 5 UId db deld ST HRA™
Tfde= & 52 d GENYA & ded urid fdear 7T |

HYF 1. YR HAYH F 999 Wiy # Wty e Fgfea ami & 13 $1 UreyH B
IR HYF & 3ale H, 4 QU 7Y fawedl 7 ¥ Ygl ITRPT 909 FifoY

(1) cSFi®YT 9By g Hels
2) o ®YA |1 d HYF 1 SFT TAd 8
(3) Y HE g Py 1 TTAd §
(4) &Y | TTAd g HYE 11 81 8

Options :

92090662097. 1

92090662098 2

92090662099. 3
92090662100. 4




Question Number : 25 Question Id : 92090615718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FYF | “ABIHI 3R I Y GHI3Hf & SRS BT 5 Uid db dgld ST HRA™
Hfay™ & 52 d WAy & ded urid fasar mar |

HYF Il . HRAIT Gfau & 999 TeiteH H APy e Frgfad S & 1134 &1 UrayH g
SWRITd HYA $ 3T H, -9 4T 7Y [gpeul # ¥ el Iwrep! 99+ Pifoe

(1)  SAiPYT 19 HYT 1 I el g
2) o ®Ya 1 YT 1 gF] TAd &
(3) &Y | Tel fog HUA 11 T ©
(4) Y| TTad fb=g $YF 11 961 B

Options :

92090662097. 1

92090662098 2

92090662099. 3
92090662100. 4

Part B: Agro Forestry
Section Id : 920906312
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75
Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906510
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 26 Question Id : 92090615719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Guava belongs to which of the family

1. Anacardiaceae

2. Rosaceae

3. Myrtaceae

4. Caricaceae
Options :

92090662101. 1
92090662102. 2
92090662103. 3
92090662104. 4

Question Number : 26 Question Id : 92090615719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HAEe The THEN % e 27

(1) TATHITSuEt (2) Tt

(3) Tuest (4) THiThHEl
Options :

92090662101. 1
92090662102. 2
92090662103. 3
92090662104. 4

Question Number : 27 Question Id : 92090615720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most ideal method of top working in mango is
1.  Inarching
2. \Veneer grafting
3. Side grafting
4.  Contour farming

Options :
92090662105. 1
92090662106. 2



92090662107. 3
92090662108. 4

Question Number : 27 Question Id : 92090615720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 o firer o & e 999 s7ew 7l -3 87

(1) #HeweH (2) forame mfgen (i arfre)
(3) WIvE wHeH (H1ES ATEIT) (4) el HIHIT
Options :

92090662105. 1
92090662106. 2
92090662107. 3
92090662108. 4

Question Number : 28 Question Id : 92090615721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement—I| : Tape is used for the measurement of diameter of tree directly.
Statement—Il :  Diameter of tree can also be calculated using tape.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both Statement—I and Statement—I| are correct

2. Both Statement—I| and Statement—I| are incorrect
3 Statement—I is correct but Statement—I| is incorrect

4. Statement—I| is incorrect but Statement—I| is correct

Options :

92090662109. 1
92090662110. 2
92090662111. 3
92090662112. 4

Question Number : 28 Question Id : 92090615721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

== gl e few T E

FUA () : T8 F =8 HI 994 for0 B &1 I HY & G e g
F9 (1) : 9 % =40 1 TOH1 Fld 1 3T Fd gL HI 1 Tl 2 |

I wUAT % HeY ¥ A" 53 w1 fawedi § € weE Iuge I G|

(1) o (D 3 (A1) 1 5 2 |

(2) =+ (1) 3 (1) A1 7oA & |

(3)  wuA (1) TEl 7, 9tg F¥A (1) 7o = |

(4) (D) T B, v FA (ID) §E R

Options :

92090662109. 1
92090662110. 2
92090662111. 3
92090662112. 4

Question Number : 29 Question Id : 92090615722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I| with List—Il :

List—I List—II

(A) | Central Agroforestry Research (1) | Bhopal
Institute

(B) | Indian Institute of Horticultural (I | Jhansi
Research

(C) | Indian Institute of forest (IIt) | Dehradun
Management

(D) | Forest Survey of India (IV) | Bengaluru

Choose the correct option from those given below :

1. (A(: (BHI): (C)=(l): (DI(IV)

2. (A)=(lI); (B)=(I): (C)=(IIl): (D)}-(IV)
3. (A B)I): (C)-(IV); (D))
4. (A(I); (B)-(IV); (C)-(1); (D)1l
Options :

92090662113. 1
92090662114. 2
92090662115. 3
92090662116. 4

Question Number : 29 Question Id : 92090615722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt [ =1 gt 118 gafem it |

T I Tt 11
(A) HFE FH-T1hH I TEIH (I) |
(B) 9RAT IrEH FTETH SR (IT) s
(C) WA TH-a-49- T (11I) <&t
(D) Wt 3= wdem (IV) sTefs

= feu v faeat @ § 98 I #1999 i .

(1) (A)-@), (B)-aD), (C)-(1I), (D)-(AV)
(2)  (A)-aD), (B)-(D), (C)-I1D), (D)-AV)
(3)  (A)-aID), (B)-AD), (C)-AV), (D)-(I)
(4)  (A)-aD, (B)-(IV), (C)-(D), (D)-(IIT)

Options :

92090662113. 1
92090662114. 2
92090662115. 3
92090662116. 4

Question Number : 30 Question Id : 92090615723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Most of the banana cultivars are

A. Haploid
B. Diploid

C. Triploid
D. Tetraploid
E. Polyploid

Choose the correct answer from the options given below :

1. Aand B only

2. BandConly

3. CandD only

4. Conly
Options :

92090662117. 1
92090662118. 2
92090662119. 3
92090662120. 4

Question Number : 30 Question Id : 92090615723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et 1 Al Fegenfaar (fra) e &7

(A)  3rfuE

(B) fafm

(C) Frfm

(D) =g

= fo ™ fawei 8 ° wd 3 g

(1) ad (A) 3T (B) (2) Had (B) 31 (C)

(3) = (C) 3 (D) (4) e (C)
Options :

92090662117. 1
92090662118. 2



92090662119. 3
92090662120. 4

Question Number : 31 Question Id : 92090615724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The unit less measure of dispersion is
1. Mean deviation
2. Standard deviation
3. Coefficient of variation
4. Range

Options :

92090662121. 1
92090662122. 2
92090662123. 3
92090662124. 4

Question Number : 31 Question Id : 92090615724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TftEur 1§ Teq W F1 R 7

(1) = fagem (2) T faaem
(3) T =1 TR (4) wE (9iER)
Options :

92090662121. 1
92090662122. 2
92090662123. 3
92090662124. 4

Question Number : 32 Question Id : 92090615725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The National Afforestation Programme is being implemented through a
tier structure.

A. 2
B. 3
C. 4
D. 5

Choose the correct answer from the options given below :
1. Aonly
2. Band C both
3. CandD both

4. Bonly

Options :

92090662125. 1
92090662126. 2
92090662127 3
92090662128. 4

Question Number : 32 Question Id : 92090615725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TEE T W fohaq Tt & dad Tge a1 T 8 7

(A) 2

(B) 3

C) 4

(D) 5

e fedr o fawedi # @ ot I R

(1)  Fae (A) (2) == (B) 3R (C)

(3) == (C) 3R (D) (4) ae (B)
Options :

92090662125. 1
92090662126. 2
92090662127. 3



92090662128. 4

Question Number : 33 Question Id : 92090615726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement—I| : The development that meets the need of the present without
compromising the ability of the future generations to meet
their own needs is known as sustainable development.

Statement—Il :  Sustainability is an old concept and does not account much in
conservation of environment and agriculture.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both Statement—I and Statement—II are true

2. Both Statement—I and Statement—II are false

3. Statement—I is true but Statement—I| is false

4. Statement—I is false but Statement—I| is true
Options :

92090662129. 1
92090662130. 2
92090662131. 3
92090662132. 4

Question Number : 33 Question Id : 92090615726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= 21 e few e #

wu (I): =98 fawm =1 gfasy & Gifemi 1 76 EvEsas & @ w4 S g9 ™
fam foam foFd, adom &t smevasar 9fd & foro e e 2, 97 gumofa
(Teae) fawe Feerm 2 |

FYA (1) : FuRiiE (F=Haa) foawm U QUi aiemed 8 3 sa ggiem 3 S
T | Hig ATEH TE 8 |

I w5 el F, A= fol @ weet § & W g
(1) =2 (1) 3 &Y= (1) gH 9 & |

(2) = (1) R F9A (1) 3T 393 & |

(3 FW ()¥FF 2 3w F (1) 3\ T 8|

(4)  FH () 35F 8 3 F21 (1) 59 2|

Options :

92090662129. 1
92090662130. 2
92090662131. 3
92090662132. 4

Question Number : 34 Question Id : 92090615727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Transition zone between two ecosystem is called
A. Ecotype
B. Ecoform
C. Ecotone
D. Ecomorph

Choose the most appropriate answer from the options given below :

1.  Aonly

2. Bonly

3. Conly

4. Donly
Options :

92090662133. 1



92090662134. 2
92090662135. 3
92090662136. 4

Question Number : 34 Question Id : 92090615727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e T % o= H HHA & FAT el &7
(A) sehlergy (wifefohm g&a)

(B) wiwH

(C) THieH (Hshibe)

(D) HETE

= foa ™ faewi § 9 ot o gfw

(1) <ad (A) (2) Haet (B)

(3)  =Haw (O) (4) Haa (D)
Options :

92090662133. 1
92090662134. 2
92090662135. 3
92090662136. 4

Question Number : 35 Question Id : 92090615728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which among the following is a component of intensive farming system?
1. Soil health care
2. Crop management
3. Energy management

4.  Soil health care, Crop management, Energy management
Options :
92090662137. 1
92090662138. 2
92090662139. 3
92090662140. 4



Question Number : 35 Question Id : 92090615728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafefiga § 4 =9 91 v 724 FN qued! #7192 87

(1) W& % @A &l @ad

(2) HEA A

(3) =91 gEEE

(4) T % WA F @I, $H 94 3T Hel TE-6

Options :

92090662137. 1
92090662138. 2
92090662139. 3
92090662140. 4

Question Number : 36 Question Id : 92090615729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) : Latin square design is very reliable to give precise results
when number of treatments varies from 5 to 12

Reason (R) : In Latin square design, Number of replication = Number of
treatment = Number of rows = Number of column.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
3.  (A)is true but (R) are false

4. (A)is false but (R) is true

Options :

92090662141. 1
92090662142. 2
92090662143. 3
92090662144. 4



Question Number : 36 Question Id : 92090615729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Trraams 99 (A) ; Sfea 791 st it oo 9= & fou v favase 9w 2 9=
STER S HE 5 9 12 % o= gfafda w2
F (R) : oifes @l 3ifehed H Wiashid 1 G841 = 399N I 6@ = didadl i
TETT = HicHH i TET |
ITE HYAI & Hed H, A g T fowed § § FE IW g
(1) (A) 3 (R) TF1 &9 € 31 (R), (A) =i 581 =me 2 |
(2)  (A) 3 (R) SHT 7 £, wifsd (R), (A) 1 Té = 78 2 |
(3) (A) @ 2 9 (R) & & |
(4) (A) 35 & 7 (R) 99 2
Options :
92090662141. 1
92090662142. 2

92090662143. 3
92090662144. 4

Question Number : 37 Question Id : 92090615730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=l with List=Il :

List—I List—I1

(A) | Indian Grassland and Fodder (1) | Jabalpur
Research Institute

(B) | Institute of Forest Genetics and (I1) | Pryagraj
Tree Breeding

(C) | Tropical Forest Research Institute | (lll) | Jhansi

(D) | Centre for Social Forestry (IV) | Coimbatore

Choose the correct option from those given below :

1. (AR(IV): (B)=(l); (C)=(11): (D)1)

2. (Al (B-(IV); (C)~(1); (D))

3. (A (B)HIV): (C)~(1); (D)1

4. (A B)(1); (CI(I): (D)-(V)
Options :

92090662145. 1
92090662146. 2
92090662147. 3
92090662148. 4

Question Number : 37 Question Id : 92090615730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 11 gt 11 H gafera shifaw |

T 1 =it 11
(A) WA SR UH AW FAEAE WAE () Syl
(B) H-IaTeh td g4 woeE s (1) SRR
(C) FomafeaHig a9 FATaIH FEUH (I11) =zt
(D) @HITAS Tl g (IV) g

= few v fameat § & 9 3 w1 9594 $ifaw -

(1) (A—IV); (BIII); (C)—(11); (D)D)
@ (A B)~(IV); (CO—~(D); (D)—(ITT)
(3)  (A—(II); (B)—(IV); (C)~(D); (D)}~(1D)
(1) (A(II); (B)—(D); (C)~(1T); (D)~IV)

Options :

92090662145. 1
92090662146. 2
92090662147. 3
92090662148. 4

Question Number : 38 Question Id : 92090615731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One of the most important contribution of Agroforestry in general is to respond to
climate change through... of carbon in above ground plant biomass and below
ground biomass in soil

1.  sequencing
2. sequestration
3. synthesis

4. symbiosis

Options :

92090662149. 1
92090662150. 2
92090662151. 3
92090662152. 4

Question Number : 38 Question Id : 92090615731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

F FI-H FT T T H TF AT I0GH, H % FW TG A9 7@ 3T qH F

= a1 ® 99 o # Soay iedd & fase §, s a6 2l
(1)  wepam faem (2) sAfuen (fafFawTm)

(3) Hwerm (4) wEsfEA

Options :

92090662149. 1
92090662150. 2
92090662151. 3
92090662152. 4

Question Number : 39 Question Id : 92090615732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Hen and chicken'’ is a disorder observed in which of the following crops?

1. Apple

2. Mango

3. Grape

4. Papaya
Options :

92090662153. 1
92090662154. 2
92090662155. 3
92090662156. 4

Question Number : 39 Question Id : 92090615732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
B (fT) it foe’ us wohr 1 fopm & S o & fepe arn o 27

-

(1) 4= (2) ™
(3) X (4)
Options :

92090662153. 1
92090662154. 2



92090662155. 3
92090662156. 4

Question Number : 40 Question Id : 92090615733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which measure of central tendency requires data arrangement in ascending or
descending order for its estimation?

1.  Arithmetic mean

2. Harmonic mean

3. Median
4. Mode
Options :

92090662157. 1
92090662158. 2
92090662159. 3
92090662160. 4

Question Number : 40 Question Id : 92090615733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
4 4 T i g & A % ATHeH & o0 HAhel i Haed] FARE a1 Faiel %4 °
SATTvaH BNl &7

(1) S HFE 91 (2) EMI- TTe
(3) =fer (4) wge®
Options :

92090662157. 1
92090662158. 2
92090662159. 3
92090662160. 4

Question Number : 41 Question Id : 92090615734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
labelled as Reason (R) :

Assertion (A) : The remote sensing is two types i.e., active and passive
depending upon detecting of Electromagnetic Radiation
(EMR).

Reason (R) : When the sensing device direct EMR at an object and detect

the amount of that energy which is reflected back. It is called
active sensing and when sensing device detect EMR
originating from another source, primarily from Sun, itis called
passive sensing.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation
of (A)

3. (A)is correct but (R) is not correct
4. (A)is not correct but (R) is correct

Options :

92090662161. 1
92090662162. 2
92090662163. 3
92090662164. 4

Question Number : 41 Question Id : 92090615734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fio=aras F9F (A) : 9@ Hded o TR &1 &1 & 99 6 "fea 3R Ffeea 5 6 foaga
TeehE [ & a1 @ H W i & E

FA (R) : & Hag 79 faga gEed e #i w9 v Hehm i g
Sl H IW AET H 949 AT 8 1 fF 9 wafda g6 8, o
afshd Taed HE A1 & AR I FAG 99 FF € H I faga
Freh oo, mufres =9 4 9 4, &1 gar @ 8 o 361 Ffers
Geied gl 1l 8 |

ITHF HIA| & "eH |, A+ fGF T fowedi § 7 wE I g

(1) (A) 3R (R) EF1 & & 31 (R), (A) Fi 581 =men 2 |

(2)  (A) 3R (R) TFT A &, @A (R), (A) 1 |& =mem 761 2 |

(3) (A)@d 2 9 (R) 36 2 |

(4) (A) 3@ 8 9iq (R) &7 2|

Options :
92090662161. 1
92090662162 2

92090662163. 3
92090662164. 4

Question Number : 42 Question Id : 92090615735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Blast disease in rice crop is caused by
1.  Pyricularia oryzae
2.  Helminthosporium oryzae
3. Leptosphaeria Salvini

4. Claviceps oryzaesativa

Options :

92090662165. 1
92090662166. 2
92090662167. 3
92090662168. 4

Question Number : 42 Question Id : 92090615735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I Sl FHA § s U7 TehEeh R0 BT 87

(1) uEfepetE a7t (2) efcnureitas fet
(3) oeedifE g (4) =AEEHE FiRgersar
Options :

92090662165. 1
92090662166. 2
92090662167. 3
92090662168. 4

Question Number : 43 Question Id : 92090615736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The unit of management under joint forest management is

1. Hamlet

2. Beat

3. Division

4.  \Vilage
Options :

92090662169. 1
92090662170. 2
92090662171. 3
92090662172. 4

Question Number : 43 Question Id : 92090615736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T 99 TEEE T FIG WA i FT 3hE BT 27

(1) EHeie (39H) (2) e
(3) wwm (fefasm) (4) TE
Options :

92090662169. 1
92090662170. 2
92090662171. 3
92090662172. 4



Question Number : 44 Question Id : 92090615737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Shifting cultivation is also known as
A.  Slash and burn cultivation
B. Podu cultivation
C. Jhuming cultivation
D.

Kumari

Choose the correct answer from the options given below :
1.  Aand B both
2. A,BandC
3. CandD both

4. Donly

Options :

92090662173. 1
92090662174. 2
92090662175. 3
92090662176. 4

Question Number : 44 Question Id : 92090615737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TYHR ot 1 R 3= 99 & off 990 S 87

(A) 9 TF &4 (AT AT FoAET) e

(B) g @l

(C) gir @t

(D) A

Hr= e ™ famweut 9 & wé 3w g

(1) (A) 3R (B) 2 (2) (A), (B) 3R (C)

(3) (C) 3t (D) 2 (4) ==e (D)
Options :

92090662173. 1



92090662174. 2
92090662175. 3
92090662176. 4

Question Number : 45 Question Id : 92090615738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List—| with List—II -

List—I List—lI
(A) | Indian Forest Act () |[1952
(B) | First Forest Policy of India (iy | 2002

(C) | Biodiversity Conservation Act (1) | 1927

(D) | Indian Board of Wild life (V) | 1894

Choose the correct option from those given below :
1. (A)=(); (B)(IV): (C)=(11); (D)—(1)
2. (Al (B (CH(IV); (D)=(1)
3. (A(I); (B)(1); (C)=(11); (D)-(IV)
4.

(A)=(IV); (B)=(Il1); (C)~(1): (D)~(1I

Options :

92090662177. 1
92090662178. 2
92090662179. 3
92090662180. 4

Question Number : 45 Question Id : 92090615738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 191 5=t 113 gitfm Hif

Tt 1 ==t 11
(A) WA 99 HfafEm I 1952
(B) Wee WA a9 =i (I1) 2002
(C) Safafaygar e Afufag (II1) 1927
(D) WReAE 99 Sig a8 (IV) 1894
= foer m fowewt ° @ wd 3w g

(1)  (AAIID; (B)AIV); (C)ALL); (D)(T)
(2)  (A(ID); (B)(III); (C)—~(IV); (D)—(T)
(3)  (AIID; (B)}AD); (C)—(1L); (D)HIV)
(4)  (AIV); (B)~1I): (C)—(D); (D)—1I)

Options :

92090662177. 1

92090662178. 2

92090662179. 3
92090662180. 4

Question Number : 46 Question Id : 92090615739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Allelopathy is the best example for

1.  Protocooperation

2.  Association

3. Symbiosis

4. Ammensalism
Options :

92090662181. 1
92090662182. 2
92090662183. 3
92090662184. 4

Question Number : 46 Question Id : 92090615739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ATl fehET U HeE =S e £ 7

(1) FERIHIE (FEERIATIEH) (2) =&Egm
(3) wESE Ty (4) oA
Options :

92090662181. 1
92090662182. 2
92090662183. 3
92090662184. 4

Question Number : 47 Question Id : 92090615740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Forest products contributes about ... to the world gross domestic products (GDP)

1. 1.0%

2. 15%

3. 2.0%

4. 2.7%
Options :

92090662185. 1
92090662186. 2
92090662187. 3
92090662188. 4

Question Number : 47 Question Id : 92090615740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fava woel (U19) e Ic9g] O a9 329181 1 TAEH e ferar 27

(1) 1.0% (Z2) 1.5%
(3) 2.0% 4y 2.7%
Options :

92090662185. 1
92090662186. 2
92090662187. 3
92090662188. 4



Question Number : 48 Question Id : 92090615741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Heliotropic type of branching pattern should be preferred for the purpose of

1. Road side plantation

2. Canal side plantation

3. Railway side plantation

4.  Seashore plantation
Options :

92090662189. 1
92090662190. 2
92090662191. 3
92090662192. 4

Question Number : 48 Question Id : 92090615741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
form warea o foru giad v s wImET WTTe! o 39T @i i & S =rE

(1) s% o T 1Y o | (2) 8% forar diY o |
(3) 1@ v % R 0 o o (4) ¥HzAe W WY o §
Options :

92090662189. 1
92090662190. 2
92090662191. 3
92090662192. 4

Question Number : 49 Question Id : 92090615742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—I| :  Every organisms of living world is unique and this uniqgueness
of individuals is the basis of the biodiversity.

Statement—Il :  Species richness of any area have secondary importance in
biodiversity of the area.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both Statement—I and Statement—I| are true
2. Both Statement—I| and Statement—I| are false
3. Statement—I is true but Statement—I| is false
4. Statement—I is false but Statement—I| is true

Options :

92090662193. 1
92090662194. 2
92090662195. 3
92090662196. 4

Question Number : 49 Question Id : 92090615742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= g1 o few e #
Fua (). 39 Hifad {999 d wods w9 fafme 8 3k S|l & fafbres Safafa =
YR 2 |

FA (1) : et & F wfaat 61 o= &1 39 &= 1 S0 fafauar 3 0o 78w 2|

ST HuEl % Hed H, i fo 74wl 4 & wd 3w gt
(1) o (D) 3R H2 (ID) I 74 % |

(2)  F (D) 3R FuF (1) S+ 3FFAF € |

(3) A (D) 9T & 30 %= (1) 383 8 |

() F (D) 38T & I FH9 (1) FF 8 |

Options :

92090662193. 1
92090662194. 2
92090662195. 3



92090662196. 4

Question Number : 50 Question Id : 92090615743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The term ‘social forestry' was first coined by

1. Brandis

2.  Nair

3. Troup

4. Westoby
Options :

92090662197. 1
92090662198. 2
92090662199. 3
92090662200. 4

Question Number : 50 Question Id : 92090615743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HTTA ATl 9Teg o1 Had Tadt fohe Sfarfed feram ar7

(1) wifed (2) A==
(3 W (4) faegret
Options :

92090662197. 1
92090662198. 2
92090662199. 3
92090662200. 4

Question Number : 51 Question Id : 92090615744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
labelled as Reason (R) :

Assertion (A) : Contour trenching and afforestation is done in the upper
reaches of the watershed where there may be hillock on soil
may be rocky or hard soil to slow down and retain runoff. At
the base of above mentioned area, diversion drains provided.

Reason (R) : The diversion drain is provided to slow runoff and divert it into
a protected water way which will lead to a storage structure
such as farm pond/tank.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation
of (A)

3.  (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090662201. 1
92090662202. 2
92090662203. 3
92090662204. 4

Question Number : 51 Question Id : 92090615744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frraars 2 (A) : Fgd o AR S0, I 99 89 % F e W e 2
el BT Trdl 21, WgHl geT a1 HaR gel B Wi 5 Serewe # i
& Tehd! & AN TF Hehdl ¢ | ITHR TIH & IR T IiFa ATt
S AT E |

= (R) qiEde ATfedl, FoiEed & Uil 4 & fou = A # 3 3=
Tifed S AW A | I 2 A 76 v e = wifa g 99
©d & dreid/d |

I A & HeH H, I 6 ™ famedl § | wE I gH

(1)  (A) 3R (R) gH1 T3 & 3 (R), (A) it =t =amen 2|

(2) (A) 3 (R) TSI 77 &, =it (R), (A) 1 @&t =gmen 781 2|

(3) (AT 8T+ (R) FEF 2|

(4) (A) 39F & 7 (R) 99 &

Options :

92090662201. 1
92090662202. 2
92090662203. 3
92090662204. 4

Question Number : 52 Question Id : 92090615745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The planning commission (Khanna, 1989) has recently identified --—-- resource
development agroecological regions in India.
1. 10
2. 15
3: 18
4. 19
Options :

92090662205. 1
92090662206. 2
92090662207. 3
92090662208. 4

Question Number : 52 Question Id : 92090615745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT AEM (G, 1989) 5 71 € § wRa § e gund T S ofdes aEt 6
TETH i 27

(1) 10 (2) 15
(3) 16 (4) 19
Options :

92090662205. 1
92090662206. 2
92090662207. 3
92090662208. 4

Question Number : 53 Question Id : 92090615746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Integration of tree and grasses is known as

A. Apiculture

B. Silviculture

C. Sericulture

D. Silvipalune

E. Agrisilvi pasture

Choose the correct answer from the options given below :
1. Aonly

2. BandConly

3. Eonly
4. Donly
Options :

92090662209. 1
92090662210. 2
92090662211. 3
92090662212. 4

Question Number : 53 Question Id : 92090615746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g 3 GTH % HHHCH I FT Hgl AT 87

(A)  wgHwEl TeH

(B) =9 594

(C) W i geH

(D) fafeauregm

(B) wfifaedt ureeg (wiifaedt smmme)

+ra o ™ faweni @ ¥ wE 3 g

(1) == (A) (2) Hae (B) 31 (O)

(3) a9 (E) (4) % (D)
Options :

92090662209. 1
92090662210. 2
92090662211. 3
92090662212. 4

Question Number : 54 Question Id : 92090615747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The graphical representation of ecological parameters is called

1. Ecological niche

2.  Ecological hill
3. Ecological pyramids
4. Food chain

Options :

92090662213. 1
92090662214. 2
92090662215. 3
92090662216. 4

Question Number : 54 Question Id : 92090615747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



urfifrfasht araevei & STRE %9 Fi 991 %8 Ja g

(1) i fea (2) wuitas v=rE
(3) iR Tifs (4) @mE FEen
Options :

92090662213. 1
92090662214. 2
92090662215. 3
92090662216. 4

Question Number : 55 Question Id : 92090615748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Shade effect of tree on associated crops can be overcome by

1. Canopy management

2. Roof management

3. Enhance fertilizer dose

4.  Frequent irrigation
Options :

92090662217. 1
92090662218. 2
92090662219. 3
92090662220. 4

Question Number : 55 Question Id : 92090615748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g& I BT 1 IH| GG HHG W T9E H FH G e gehar 87

(1) =t (faam) gs= 3 (2) 7 U9 H
(3) FAF HI GUH FErad | (4) 9v=ER fE=E g
Options :

92090662217. 1
92090662218. 2
92090662219. 3
92090662220. 4



Question Number : 56 Question Id : 92090615749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Social forestry programme was launched in which of the Five-year Plan?

1. 5th
2. 6th
3. Tth
4. Bth
Options :

92090662221. 1
92090662222. 2
92090662223. 3
92090662224. 4

Question Number : 56 Question Id : 92090615749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HHT% |Ti-eh! HEHa (T d=auig e § Ae fhan = 917

(1) 5th (2) 6th
(3) Tth (4) 8th
Options :

92090662221. 1
92090662222. 2
92090662223. 3
92090662224. 4

Question Number : 57 Question Id : 92090615750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Home Garden Agroforestry system is commonly practiced in

1.  Arid lands

2.  Humid tropical climate
3. Sub humid low lands
4.  High altitudes

Options :

92090662225. 1
92090662226. 2
92090662227. 3
92090662228. 4

Question Number : 57 Question Id : 92090615750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TE &M FIY F1(-eh! T HEEE: €9 § HE T TgF i a1 87

() 9 9™ (2) T3 IwEHfeAdE JeEy
(3) 39S el (4) F== &1 §
Options :

92090662225. 1
92090662226. 2
92090662227. 3
92090662228. 4

Question Number : 58 Question Id : 92090615751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sustainable alternative land use system involving trees combined with crop,
animals and/or other enterprises of on same unit of land is termed as

1.  Social forestry

2. Agroforestry

3. Farm forestry

4. Sustainable forest management

Options :
92090662229. 1



92090662230. 2
92090662231. 3
92090662232. 4

Question Number : 58 Question Id : 92090615751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TF W FI 1S A gAl HI BEAI, THAU AR/ T ITHA & 19 TS Fd gY R0
dehfcaesh Y ITENT YTel S FET A 8

(1) =mfas aif=eht (2) Hfy f=h
(3) @ At (4) HUWOfE (F&Aad) 9 a4
Options :

92090662229. 1
92090662230. 2
92090662231. 3
92090662232. 4

Question Number : 59 Question Id : 92090615752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The broad and well be known classification of Agroforestry systems was given
by

1. Dwivedi

2. Chundawat

3. Nair

4. Gautam
Options :

92090662233. 1
92090662234. 2
92090662235. 3
92090662236. 4

Question Number : 59 Question Id : 92090615752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FHiatieh! F1 =9 AR uibg Fftww fhee faar oy

(1) Teeed (2) TusmEd
(3) AR (4) A
Options :

92090662233. 1
92090662234. 2
92090662235. 3
92090662236. 4

Question Number : 60 Question Id : 92090615753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which type of trees are best to subsidize noise pollution?

1. Evergreen trees

2. Semi evergreen trees
3. Deciduous trees
4. Scrubs

Options :

92090662237. 1
92090662238. 2
92090662239. 3
92090662240. 4

Question Number : 60 Question Id : 92090615753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I TGV I HY FH & 0 fFH TER F 9% 395 4 B¢

(1) wemeR 95 (2) 3T& HeEER 34
(3) vdwE 94 (4) e
Options :

92090662237. 1
92090662238. 2
92090662239. 3
92090662240. 4



Question Number : 61 Question Id : 92090615754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
labelled as Reason (R) :

Assertion (A) : The crop failure in black pepper is due to spike shedding

which is becoming production constraint in this crop growing
areas.

Reason (R) : The spike shedding in black pepper is attributed to various
factors viz. fungal (Colletotrichum sp.). Insects, drought,
absence of pollination and inadequate pollination.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090662241. 1
92090662242. 2
92090662243. 3
92090662244. 4

Question Number : 61 Question Id : 92090615754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 29 (A) ;. =re " 6t @ 61 fawaa sad 0y i Tt g=4 ¥ 2 8 e
9 SHe I ITH Jel 87 H $H% IS H HisAs 31 Tl 2 |

Fr0 (R) : FHIATEE H 99 HI d16fl o FS4 & 90 H HEE B1d & o9 16 HaF
(Fifctaigrgay oifa) e, TEHE, WEO F 3I9E AW A=
AT £ |

IR HUAI o HeW #, J G T fosewi 7 & wE IW g

(1) (A) 3 (R) ST & & 31 (R), (A) Fif 78 = 2

(2) (A) 3 (R) gFT 8 &, 9fha (R), (A) i &dt =amem 78 21

(3) (A)@eT 8 9 (R) & 2 |

(4)  (A) 35 & 7 (R) &4 2|

Options :

92090662241. 1
92090662242. 2
92090662243. 3
92090662244. 4

Question Number : 62 Question Id : 92090615755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

National Wasteland Development Board (NWDB) came into existence during the
period of

1. 1970

2. 1975

3. 1980

4. 1985
Options :

92090662245. 1
92090662246. 2
92090662247. 3
92090662248. 4

Question Number : 62 Question Id : 92090615755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e w9 e faw afufa e Fe @ sifeaa ° amf?

(1) 1970 (2) 1975
(3) 1980 (4) 1985
Options :

92090662245. 1
92090662246. 2
92090662247. 3
92090662248. 4

Question Number : 63 Question Id : 92090615756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Components of social forestry are
A. Farm forestry

Extension forestry

Recreation forestry

Apiculture

m Do O D

Silviculture

Choose the correct answer from the options given below :

1. A BandC

2. Aonly

3. Bonly

4. CandE only
Options :

92090662249. 1
92090662250. 2
92090662251. 3
92090662252. 4

Question Number : 63 Question Id : 92090615756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= g Tl & geh 87

(A) @d TR

(B) T i

(C) THRSA Frieh

(D) wYgHeEl 9o

(E) o4 da44

i e ™ fawei 9§ wE 3w g

(1) (A, (B) 3 (C) (2) =9 (A)

(3) = (B) (4) == (C) 3R (E)
Options :

92090662249. 1
92090662250. 2
92090662251. 3
92090662252. 4

Question Number : 64 Question Id : 92090615757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement—| : Wasteland are the degraded land which are currently
unutilized and deteriorating due to lack of awareness and
management.

Statement—Il : Wasteland management can only and only reclaimed using

biological measures.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both Statement—I and Statement—I| are true

2. Both Statement—I and Statement—I| are false

3. Statement—I is true but Statement—I| is false

4. Statement—I is false but Statement—I| is true
Options :

92090662253. 1
92090662254. 2



92090662255. 3
92090662256. 4

Question Number : 64 Question Id : 92090615757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EICECUELER R S &

FYA (I): & 4, 3vsifaa g &t 2 91 f6 adom § Sreeed 37 ge-E & 39me
T H9gad & 3R 35 &9 B @2 |

FUA (II) : TR Y =Haw=n Fi Had sAfas wihl 1 IR K U A Hhal 2 |

I wUA & He # A fai ™ fawedi § & ved IvgE sw g |

(1) = (D) 3 (1) &1 & 2 |

(2) A (1) 3 (1) =1 7o 2 |

(3) A () 961 8, g &9 (1) Ted 2 |

(4) w¥A (1) To 2, Teg FUA (1) |8 2 |

Options :

92090662253. 1
92090662254. 2
92090662255. 3
92090662256. 4

Question Number : 65 Question Id : 92090615758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lemon grass (Citronella flexuosus Nees) belongs to the family
1. Poaceae
2. Lamiaceae
3. Legumenoceae

4. Rosaceae

Options :

92090662257. 1
92090662258. 2
92090662259. 3
92090662260. 4



Question Number : 65 Question Id : 92090615758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e T (faden wegaia ie) e ofan & 9= g -

(1) e (2) ifEuEt
(3) ©igmEAE (4) TriE
Options :

92090662257. 1
92090662258. 2
92090662259. 3
92090662260. 4

Question Number : 66 Question Id : 92090615759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Allelopathy denotes

1.  positive interaction

2. negative interaction
3. positive as well as negative interaction
4.  No interaction

Options :

92090662261. 1
92090662262. 2
92090662263. 3
92090662264. 4

Question Number : 66 Question Id : 92090615759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt F Fad Fal 87
(1) HHAHS TH T4 (2) FhFATHS 9T THE
(3) TERES I TRATS T T (4) 1§ TER T9E TEI

Options :



92090662261. 1
92090662262. 2
92090662263. 3
92090662264. 4

Question Number : 67 Question Id : 92090615760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Pterocarpus dalbergiodes is grown under Taungya system in states of
A. Uttar Pradesh
B. Tamil Nadu
C. West Bengal
D. Andaman and Nicobar

Choose the most appropriate answer from the options given below :

1. Aonly

2. Bonly

3. Conly

4. Donly
Options :

92090662265. 1
92090662266. 2
92090662267. 3
92090662268. 4

Question Number : 67 Question Id : 92090615760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2ITT WUIeAt %6 F=Tia SUhINE Scatassied fha U= § ImE AW 87

-

(A) IEeH

(B) wrfeTg

(C) afvadt e

(D) 3=HA AR FEn

i fea 7 faweai § 9 9 3 gfv -

(1) =aa (A) (2) Hae (B)

(3)  *aE (C) (4) =@ (D)
Options :

92090662265. 1
92090662266. 2
92090662267. 3
92090662268. 4

Question Number : 68 Question Id : 92090615761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement—I| :  Dalbergia sissoo is commonly growing species in riverine belt
of most part of the country.

Statement—Il :  Regeneration of Dalbergia sissoo is easy and can be easily
achieved naturally.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both Statement—I and Statement—I| are correct

2. Both Statement—I and Statement—I| are incorrect

3. Statement—I is correct but Statement—I| is incorrect

4. Statement—I is incorrect but Statement—II is correct
Options :

92090662269. 1
92090662270. 2
92090662271. 3
92090662272. 4



Question Number : 68 Question Id : 92090615761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= g e g mw &
FuA (I):  Soafean g <9 &% Aftsha Afg 92 &9 § 9 371 g8 It S 2 |

Fed (1) : SoEfdal &5 &1 [eead 3WH & 3 39 Ui ¥4 H JEH 8 ora
fopan =11 w1 2 |

ITgE YA = "o ¥ = e 7 faweni § & we@ IugE W g
()  =4a () Fr (1) T w2 |
(2) = (1) 3T (1D) <=1 TTord & |

(3) @A (I) 91 2, 9%q & (1) 7o 2 |
(4) A (1) Tera 2, g FuE (1) 858 2 |

Options :

92090662269. 1
92090662270. 2
92090662271. 3
92090662272. 4

Question Number : 69 Question Id : 92090615762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pyrilla of Sugarcane also secrete honey dew which attract black fungus that
cover the leaf and directly affect the

1. Respiration

2.  Photosynthesis

3. Fermentation

4. Morphology
Options :

92090662273. 1
92090662274. 2
92090662275. 3
92090662276. 4



Question Number : 69 Question Id : 92090615762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T &1 YA 98¢ 95 Hifad al & o1 T Flel s (i FH) H NG Har 2 =1
T F TH Y o W wE T #

(1) va&q (2) T HIAT
(3) faoa (4) AR
Options :

92090662273. 1
92090662274. 2
92090662275. 3
92090662276. 4

Question Number : 70 Question Id : 92090615763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
labelled as Reason (R) :

Assertion (A) : Agroforestry play crucial role in Biodiversity conservation,
livelihood security and income generation.

Reason (R) : Overall farm income generated in agroforestry accompanying
higher chances of disease and animal losses.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090662277. 1
92090662278. 2
92090662279. 3
92090662280. 4



Question Number : 70 Question Id : 92090615763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Froarers #24 (A) : FN a6, Safafaud e, Sed T e 3 3y wHE A
TR i 3 FA 8 |

F W (R) : HY AT § @dl ° IR o AT & qY-TY W AT FI0ET I
B & ifuerias 39e 21 £ |

IRfad HUA1 o HeW #, 9 g & foshewi § & wE 3w g

(1) (A) 3 (R) 3HT 7 & 3 (R), (A) Fit 781 =me 2 |

(2) (A) 3R (R) gHi &cF &, ©ifrd (R), (A) i @&t =amen =8 £ |

(3) (A)E™ 2 9 (R) 38 2 |

(4) (A) 3@ 2 97 (R) 59 &)

Options :

92090662277. 1

92090662278. 2

92090662279. 3
92090662280. 4

Question Number : 71 Question Id : 92090615764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The cross-sectional shape of any shelter belts is

1. Parallel

2. Nelloid

3. Cylinder

4. Pyramid
Options :

92090662281. 1
92090662282. 2
92090662283. 3
92090662284. 4

Question Number : 71 Question Id : 92090615764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Torslt anwEvE (Iceteice) i IR FIE HT HEHN Al 2l 87

(1) EEEFR (2) s
(3) SR (4) Trfr=
Options :

92090662281. 1
92090662282. 2
92090662283. 3
92090662284. 4

Question Number : 72 Question Id : 92090615765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The process of cycling of nutrients from soil to the plant and back to the soil is
called

Nutrient uptake
Nutrient absorption
Nutrient cycling

Nutrient pumping

m o o w e

Nutrient mineralization

Choose the correct answer from the options given below :

1. AandB

2. Donly

3. CandE only

4. Cand D Both
Options :

92090662285. 1
92090662286. 2
92090662287. 3
92090662288. 4

Question Number : 72 Question Id : 92090615765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qiwehi 1 Ge1 & dei # i Al & g § arom =se 1 sl w w1 Fa o 2
(A) TiYH FHAUEW

(B) U9 =i

(C) e =

(D) HiYH 99

(E) des @fsiieno

= feit m fawedi § @ wd I gRU

(1) (A 3 (B) (2) e (D)

(3) =aa (C) (4) (C) 3 (D) gMI
Options :

92090662285. 1
92090662286. 2
92090662287. 3
92090662288. 4

Question Number : 73 Question Id : 92090615766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-I with List—l| : Regarding measurement of log

List- List-I

(A) | Smalian formula M) | (g4 =1

(B) | Huber formula (y | §;+4S,+S, L
6

/

(C) | Newton's formula () | S, ! (for paraboloid)

(D) | Hoppus formula (IV) mx;{mrparabmﬂid}

Choose the correct option from those given below :
1. (AIV); (B (Cy(I); (D)-(1)
2. (A(V): (B)=(1IT): (C)=(I); (D)(1)
3. (A(); (B)1I): (C)IV); (D)-(1I)

4. (A(ID; (B (CH(IV); (D)-(1)

Options :

92090662289. 1
92090662290. 2
92090662291. 3
92090662292. 4

Question Number : 73 Question Id : 92090615766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 11 gt 11 & gifer Hife,

= 1 il
(A) dfera @3 M (g/4Pxl
(B) =T ¥ (I0) W:—“x;
C) FH g (I1D) s, x! (¥ =138 % foru)
(D) =9 g av) 882, (fu e % fow)
Hra fed i fawedi # & w8 3w ghw:

(1) (A=(IV): (B)I); (C)IID); D)
(2)  (A-IV): (B)~I); (C)~1I); (D)I)
(3)  (A-IID): (B)—(I); (C)IV); (D)D)
(4)  (A)-I); (B)(III); (C)~IV); (D)—(T)

Options :

92090662289. 1
92090662290. 2
92090662291. 3
92090662292. 4

Question Number : 74 Question Id : 92090615767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Joint forest management concept was evolved in early of

1. 1950
2. 1960
3. 1970
4. 1980
Options :

92090662293. 1
92090662294. 2
92090662295. 3
92090662296. 4

Question Number : 74 Question Id : 92090615767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

TYF 99 Yo =i Thod] #a (i 53 417

(1) 1950 (2) 1960
(3) 1970 (4) 1930
Options :

92090662293. 1
92090662294. 2
92090662295. 3
92090662296. 4

Question Number : 75 Question Id : 92090615768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shelterbelts should possess a typical shape

A.  Triangular
B. Linear belt
C. Square

D. Rectangular
E. Hexagonal

Choose the correct answer from the options given below :

1. Aonly

2. Aand B both

3. BandC

4. D andE both
Options :

92090662297. 1
92090662298. 2
92090662299. 3
92090662300. 4

Question Number : 75 Question Id : 92090615768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

FIHT U (Iiwel "ee) I HAEHIL HEl BHT IM8T?

(A) Freemfa

(B) i@awE

(C) =i

(D) 3mEd

(E) weysE

= foa ™ fawei 8 ¥ wd I g

(1) ==e (A) (2) (A) 3 (B) gt

(3) (B) 3R (C) (4) (D) 3 (E) gHi
Options :

92090662297. 1
92090662298. 2
92090662299. 3
92090662300. 4

Question Number : 76 Question Id : 92090615769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Citrus canker is caused by
A.  \Mirus
B. Fungus
C. Bacteria
D. Nematodes
E. Insects

Choose the most appropriate answer from the options given below :

1. Aand B only

2. Conly

3. Donly

4. Eonly
Options :

92090662301. 1



92090662302. 2
92090662303. 3
92090662304. 4

Question Number : 76 Question Id : 92090615769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Toew S fras Rw BT 27

(A)  feoumo

(B) =%

(C) =

(D) uerE

(E) e

= T3 ™ fawedi © 9 98 I 9T -

(1) = (A) 3T (B) (2) e (C)

(3)  FEa (D) (4) Fa (E)
Options :

92090662301. 1
92090662302. 2
92090662303. 3
92090662304. 4

Question Number : 77 Question Id : 92090615770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
labelled as Reason (R) :

Assertion (A) : Fertilizer trees improves nutritional status of food and feed
crops.
Reason (R) : The fertilizer trees improve nitrogen fixation, greater volume

of soil nutrients through deep rooting trees and improved
availability of nutrients associated with higher cation
exchange capacity and organic matter level.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090662305. 1
92090662306. 2
92090662307. 3
92090662308. 4

Question Number : 77 Question Id : 92090615770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FoeaTe 9 (A) : 390 99 @rE 3 WTE BEA| % 99 T Y HUR A 8 |

=R (R) : 3ot 95 ATEgia fRdieR, el T a9 S diell 92§ 5T Il
F HAEAT IR G Hl IFA TGl H TEAUG I herdH
fafmg gar st FEte e & @ 0 g9R @ 2

ITFd HYAI  Hed H, A g T fawedt § | w56 3w gfw

(1) (A) 3 (R) 3F1 &3 & 3 (R), (A) T 5&1 = €|

(2)  (A) IR (R) TFT 9 &, ©ife (R), (A) i 58l =men 76 2 |

(3) (A) & & Ut (R) 567 B |

(4)  (A) 35 & g (R) & 2|

Options :

92090662305. 1

92090662306. 2
92090662307. 3



92090662308. 4

Question Number : 78 Question Id : 92090615771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sugarcane crop should be harvested when the brix value reach to

1. 24

2. 6-8

3. 9-11

4. 12-18
Options :

92090662309. 1
92090662310. 2
92090662311. 3
92090662312. 4

Question Number : 78 Question Id : 92090615771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T~ 1 HHA Tl FeTs a9 BT AT 59 6061 5798 TF & -

() 247 (2) 6-8%
(3) 9-11% (4) 12-187
Options :

92090662309. 1
92090662310. 2
92090662311. 3
92090662312. 4

Question Number : 79 Question Id : 92090615772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



National Remote Sensing Agency is located at
1. Lucknow
2. Hyderabad
3. Bangalore

4. Dehradun

Options :

92090662313. 1
92090662314. 2
92090662315. 3
92090662316. 4

Question Number : 79 Question Id : 92090615772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TEE GoX Helgd USH HEl [€4d 87

(1) s (2) #euETg

(3) dmEn (4) <&
Options :

92090662313. 1
92090662314. 2
92090662315. 3
92090662316. 4

Question Number : 80 Question Id : 92090615773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
labelled as Reason (R) :

Assertion (A) : Mangroves are salt tolerant ecosystems in tropical and
subtropical regions.

Reason (R) : Mangrove ecosystems are largely characterized by
assemblage of unrelated tree Genera that share the common
ability to grow in saline and duel zones.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is NOT the correct explanation
of (A)

3. (A)is true but (R) is false

4. (A)is false but (R) is true
Options :
92090662317. 1
92090662318. 2

92090662319. 3
92090662320. 4

Question Number : 80 Question Id : 92090615773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fio=amars F9F (A) : 39 Hfea-dm IR 0O FHiEHE fF 0 UUE @an |@fEe
ufEa= £ |

F (R) : fin afiem, @gd @ Emf gaevi & g | sfefaa g9 € e
o ST &3 | 3 hT qHaT = HE w5 E |

I YA % deH H, i g ™ faewed | # §El I g

() (A) 3R (R) 3F1 &3 & 3 (R), (A) i =& =me & |

(2) (A 3R (R) I 7 &, AT (R), (A) i w& ==men @ 2 |

(3) (A)® 2 9eg (R) #6cd B |

(4) (A) 3EF & 7 (R) & 2|

Options :

92090662317. 1

92090662318 2

92090662319. 3
92090662320. 4



Question Number : 81 Question Id : 92090615774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The National centre of medium range weather forecasting provide the forecast
for next

1. 24 hour
2. lessthan 3 days
3. 3to10days

4. more than 6 months

Options :

92090662321. 1
92090662322. 2
92090662323. 3
92090662324. 4

Question Number : 81 Question Id : 92090615774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TEE T99 319 HHY EHEH %5 37T 6t 999 1 [@HEE o 27

(1) 249 (2) T a+m
(3 3m10f= (4) 6WEH & Al
Options :

92090662321. 1
92090662322. 2
92090662323. 3
92090662324. 4

Question Number : 82 Question Id : 92090615775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pink ball worm is a serious pest of

1. Sugarcane

2. Cotton

3. Chickpea

4.  Maize
Options :

92090662325. 1
92090662326. 2
92090662327. 3
92090662328. 4

Question Number : 82 Question Id : 92090615775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T =fa o (Frer) form &1 v famaees dies 27

(1) 7= (2) =UH
(3) = (4) we=RI
Options :

92090662325. 1
92090662326. 2
92090662327. 3
92090662328. 4

Question Number : 83 Question Id : 92090615776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
During epidemic year, which insect cause 40-60% damage of gram yield

1.  Helicoverpa armigera Hubner

2. Agrotis ipsilon

3. Odontotermes obesus

4.  Etiella zinckenella
Options :

92090662329. 1
92090662330. 2



92090662331. 3
92090662332. 4

Question Number : 83 Question Id : 92090615776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HEMHT 99 < 2 fohe =hiz 4 =+ =i 395 i 40-60% =8 = fe7r |

(1) Ecfipiadt 7T gaa (2) wiifea svifrea
(3) ERRHE IEET (4) zfeven e
Options :

92090662329. 1
92090662330. 2
92090662331. 3
92090662332. 4

Question Number : 84 Question Id : 92090615777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lalit is an improved variety of

1.  Apple

2. Mango

3. Guava

4. Pine apple
Options :

92090662333. 1
92090662334. 2
92090662335. 3
92090662336. 4

Question Number : 84 Question Id : 92090615777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HAfetd TepEehl T I=1d T &7

-

(1) &= (2) ™
(3) =G (4) FAEE (95409 )
Options :

92090662333. 1
92090662334. 2
92090662335. 3
92090662336. 4

Question Number : 85 Question Id : 92090615778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Alloy cropping is also known as
1. Hedge row inter cropping
2. Woody hedges
3. Woodlots

4. Soil conservation hedges

Options :

92090662337. 1
92090662338. 2
92090662339. 3
92090662340. 4

Question Number : 85 Question Id : 92090615778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tl wEE (Tel HITAT) 1 T 9T AT S 27
(1) =g 9fF o F=F (3 T s26im)
(2) HEE A
(3) FEE EE
(4) & HET =TS

Options :
92090662337. 1
92090662338. 2



92090662339. 3
92090662340. 4

Question Number : 86 Question Id : 92090615779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which insect cause has highest damage and loss about 75% alone fo the tea
plantation?

1. Buzura suppressaria
2. Heterusia cingals
3. Clania crameri

4. Tetranychus bioculatus

Options :

92090662341. 1
92090662342. 2
92090662343. 3
92090662344. 4

Question Number : 86 Question Id : 92090615779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T8 e 4 919 & diYl § Teg AT afd qg=e 8 3 fad e 75% & g8 87

(1) T @ ke B
(3) wAE FHG (4) HFE TEIPoIcT
Options :

92090662341. 1
92090662342. 2
92090662343. 3
92090662344. 4

Question Number : 87 Question Id : 92090615780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I| with List=II :

List-I List—II

(A) | Project Lion (n | 1970

(B) | Project Crocodile (I | 1991

(C) | Project Elephant (1) [ 1975

(D) | Project Hangul (V) | 1972

Choose the correct option from those given below :
1. (A-(I); (B)=(IV); (C)-(1); (D))
2. (A(IV) (B)=(l); (C)=(In); (D)-(1)
3. (A)(II); (B)=(1); (C)~(Ill); (D)~(IV)
4. (AR(IV); (B)=(l); (C)=(l); (D)

Options :

92090662345. 1
92090662346. 2
92090662347. 3
92090662348. 4

Question Number : 87 Question Id : 92090615780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 1 w1 gt 115 gafoa Hifa |

11 T 11
(A) TreEe 30 @ 1970
(B) ieide WRAS (ID) 1991
(C) wrerFe g1t (III) 1975
(D) disi=e BT (Iv) 1972
= feg ™ faweat § 9 9d 3w g

(1)  (A-(1Ix; (BIV); (C)-(I): (D)D)
(2)  (AIV): (B)~II); (C)—1D): M-I
(3)  (A)-D: (B)-D; (CILL); (D)AIV)
(4)  (A)-IV); (B)IL); (C)—HI): (D)D)

Options :

92090662345. 1
92090662346. 2
92090662347. 3
92090662348. 4

Question Number : 88 Question Id : 92090615781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Planting distance of mango under ultra high density plantation is

AL 5mx5m
B. 4mx4m
C. 3mx2m
D. 3mx2m

Choose the correct answer from the options given below :
1. Aand B only
2. BandC only

3. Conly
4. Donly
Options :

92090662349. 1



92090662350. 2
92090662351. 3
92090662352. 4

Question Number : 88 Question Id : 92090615781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HAfd I== I JHHAW % IF=ria AW H S i g e S =it

(A) Hm¥*X5m
(B) dmx4dm
(C) fmx4dm

(D) 3mxZm

Hr= feir 7 fawewr 9 9 wé 3w g

(1) = (A) 3 (B) (2) = (B) 3 (0)

(3)  Haw () (4) Ha= (D)
Options :

92090662349. 1
92090662350. 2
92090662351. 3
92090662352. 4

Question Number : 89 Question Id : 92090615782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Apple is mainly propagated by
A.  Cuttings
B. Shield budding
C. Patch grafting
D. Seeds
Choose the most appropriate answer from the options given below :

1. Aand B only

2. BandDonly

3. Bonly

4. Donly
Options :

92090662353. 1
92090662354. 2
92090662355. 3
92090662356. 4

Question Number : 89 Question Id : 92090615782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e I TG HY I 41 87
(A) Hoaad
(B) fores wferar (fores afem) &
(C) = o (FrefeT) &

(D) =4

e fe¥ T fashedi 4 & w99 I9gE I MY

(1)  had (A) 3T (B) (2) +ae (B) 3 (D)
(3 = (B) (4) == (D)
Options :

92090662353. 1
92090662354. 2
92090662355. 3
92090662356. 4



Question Number : 90 Question Id : 92090615783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mango malformation is caused by
A. Bacteria

Virus

Fungus

Nematodes

m B o W

Insects
Choose the correct answer from the options given below :

1. Aand B only

2. CandD only

3. BandEonly

4. Conly
Options :

92090662357. 1
92090662358. 2
92090662359. 3
92090662360. 4

Question Number : 90 Question Id : 92090615783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I FEua1 fRa g Bl 27

(A) e

(B) T

(C) Fa=

(D) Toers

(E) e

H= o ™1 fomenl 4 & wd 3 g

(1) = (A) 3T (B) (2) == (C) 31 (D)

(3) aw (B) 30 (E) (4) == (C)
Options :

92090662357. 1
92090662358. 2
92090662359. 3
92090662360. 4

Question Number : 91 Question Id : 92090615784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The ‘Pant Haritima’ is a good leave and seed yielder variety of

1.  Turmeric

2. Coriander

3. Ginger

4. Fenugreek
Options :

92090662361. 1
92090662362. 2
92090662363. 3
92090662364. 4

Question Number : 91 Question Id : 92090615784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



‘U BHEET U =Sl Ul 3N 3= @e I09TeE i e & | 98 ThEehl v e 27

(1) &gl (2) s
(3) 3Ie=H (4) weft
Options :

92090662361. 1
92090662362. 2
92090662363. 3
92090662364. 4

Question Number : 92 Question Id : 92090615785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following is an important improved variety of turmeric?

1. Krishna

2. Survarna

3. Sudarshan

4. Krishna, Survarna, Sudarshan

Options :

92090662365. 1
92090662366. 2
92090662367. 3
92090662368. 4

Question Number : 92 Question Id : 92090615785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
F=fefiga o @ &F i god! $1 U TEEqYl 34 9 87

(1) F=m (2) e
(3) HeuHA (4) FHem, gaui 3R e
Options :

92090662365. 1
92090662366. 2
92090662367. 3
92090662368. 4



Question Number : 93 Question Id : 92090615786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List—Il with List=II :

List—I List—I

(A) | First Silviculturist of India (1) | Watson

(B) | First Inspector General of Forest (I1) | Troup

(C) | First Conservator of Forest (lty | S. Eardley Wilmot

(D) | First President of FRI (IV) | Dietrich Brandis

Choose the correct option from those given below :

1. (A1) B)=(II); (C)=(Il; (D)}-(IV)

2. (A)-(V); (B)=(Ill); (C)-(I1); (D))
3. (Al (B-(V): (C)-(1); (D)1l
4. (A, (B-(V): (C)-(l1); (D))
Options :

92090662369. 1
92090662370. 2
92090662371. 3
92090662372. 4

Question Number : 93 Question Id : 92090615786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=1 10 gt 118 gufera =ifeg |

T 1 =t 11
(A) 9RT &1 999 99 a4 (I) daeEd
(B) WRA T 999 59 $T<FL I (I0) =
(C) ¥R &1 999 99 HLEH (I11) wd. w2t faemie
(D) UE.AW.HATE. =TT A (IV) o= wifsa
Hi= feir m fawedt § @ wd s ghu:

(1)  (AD): (B)ID; (C)—(ILI); (D)IV)
(2)  (A-IV); (B)AII): (C)—(11); (D)—(T)
(3) (A (B)-(IV); (C)HI); (D)—(I1I)
(4)  (AID: (B)-(IV); (CHHILI); (D)D)

Options :

92090662369. 1
92090662370. 2
92090662371. 3
92090662372. 4

Question Number : 94 Question Id : 92090615787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which crop, tying, wrapping and proping operation are done to provide
mechanical strength and proper easy distribution of CO,

1. Pegionpea
2. Mustard
3. Sugarcane

4. Bajra

Options :

92090662373. 1
92090662374. 2
92090662375. 3
92090662376. 4

Question Number : 94 Question Id : 92090615787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

fora waa § it wifaa & 3t CO. % I9ga smaM faamw & faw e, aven 3k
YA WA i ST 8 7

(1) I = (2) @
(3) 7= (4) =T
Options :

92090662373. 1
92090662374. 2
92090662375. 3
92090662376. 4

Question Number : 95 Question Id : 92090615788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is known as father of ‘Green Revolution’ and did pioneer research work in
evolving the high yielding varieties of wheat?

1. Dr. M.S. Swaminathan

2.  Dr. Norman E Borlaug

3. Dr.N.S. Randhawa

4. Dr. P. Maheshwari
Options :

92090662377. 1
92090662378. 2
92090662379. 3
92090662380. 4

Question Number : 95 Question Id : 92090615788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B Hifd 1 F fohdl Fal F1a1 & fawai 379+ 310l 919 GR 718 = 3=d 399 i e
fafaa #i

(1) =1 vq.uH, @A (2) 1. FE = IR
(3) . T.TE, T9E (4) =1, 9. wevad
Options :

92090662377. 1



92090662378. 2
92090662379. 3
92090662380. 4

Question Number : 96 Question Id : 92090615789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What are the major methods of raising seedlings?
1. Wet bed method
2.  Dry bed method
3. Dapog method
4. Wed bed Method, Dry bed Method, Dapog Method

Options :

92090662381. 1
92090662382. 2
92090662383. 3
92090662384. 4

Question Number : 96 Question Id : 92090615789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g a i g fafiE e E
(1) et #=rt fafy (3¢ a= fafa)
(2) R faiy (g3 9 faiy)

(3) Surfafy
(4) el F@r fafy, sss w=d fafy s Samfaty
Options :

92090662381. 1
92090662382. 2
92090662383. 3
92090662384. 4

Question Number : 97 Question Id : 92090615790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—I| : Global warming results due to anthropogenic progress
leading to climate change.

Statement—Il : Sudden rise in atmospheric and ground surface air
temperature are result of global warming.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both Statement—I and Statement—I| are correct

2. Both Statement—I| and Statement—I| are incorrect

3. Statement—I is correct but Statement—I| is incorrect

4. Statement—I is incorrect but Statement—Il is correct
Options :

92090662385. 1
92090662386. 2
92090662387. 3
92090662388. 4

Question Number : 97 Question Id : 92090615790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 21w few o E

FY4 () . dfvas 39 gma i fowm nfdfafimi & & w 2 foed Sy ofda =@
wE

F4 (I) : TgAsed 3 i a8 & 919 999F § EHE ded divas 391 &
qioTe =E 2 |

IEF FUH + Hed ¥ A g7 7 fomedi § ¥ 9e@ I9gE I g0 |
(1) =y (1) 3R (D) < w2 |

(2) = (1) 3 (11) TF1 Ted & |

(3) = (1) 9l 8, Toq &2 (1) Ted & |

(4) = () Toa &, T H9A (1) 981 & |

Options :
92090662385. 1
92090662386. 2



92090662387. 3
92090662388. 4

Question Number : 98 Question Id : 92090615791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Benefit sharing concept is a core objective in
A.  Agriculture
B. Joint Forest Management
C. Sustainable Forest Management
D.

Community Forestry

Choose the correct answer from the options given below :

1. Aonly

2. BandC only

3. Bonly

4. Donly
Options :

92090662389. 1
92090662390. 2
92090662391. 3
92090662392. 4

Question Number : 98 Question Id : 92090615791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y I T H 1 HodaT HEH T T 3699 87
(A) i

(B) ©ga 94 TaE Hl

(C) YR =9 Je-4 =

(D) HHEaS ST &1

Hi= feir 72 faweat 9 © wd 3w giw

(1) == (A) (2) (B) 3 (C) gHi

(3) <= (B) (4) =Ha= (D)
Options :

92090662389. 1
92090662390. 2
92090662391. 3
92090662392. 4

Question Number : 99 Question Id : 92090615792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List—| with List=II :

List— List—II
(A) | Largest tree bearing fruit (I) | Ceiba pentandra (Kapok)
(B) | Biggest buttressed tree (Il) | Bambusa arundinacea
(C) | Biggest leaf (l1) | Teak
(D) | Tallest grass (IV) | Jack fruits

Choose the correct option from those given below :
1. (AIV); (B)=(ll); (C)-(I1); (D)~(1)
2. (A-(); (B)=(I); (C}-(IV): (D)~(1)
3. (AHIV) (B)=(1): (C)=(l); (D)—(IT)

4. (AMD): (BIIV); (C)=(I1); (D)1

Options :
92090662393. 1
92090662394. 2



92090662395. 3
92090662396. 4

Question Number : 99 Question Id : 92090615792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=t 11 gt 11 & gafera $ifaw |

il o=t 11
(A) o€ =1 Bl 1T 99 (I) @1 927 (F41)
(B) @@ = T¥d (d¢H) aren 3@ (IT) &FET IBETHIEaT
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Given below are two statements :

Statement—I| :  The biotic community is always dynamic undergoing changes
with the passage of time.

Statement—Il :  The process of changing community in a definite sequence in
an area refers as succession

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both Statement—I and Statement—I| are correct
2. Both Statement—I and Statement—I| are incorrect
3. Statement—I is correct but Statement—II is incorrect

4. Statement—I is incorrect but Statement—II| is correct

Options :

92090662397. 1
92090662398. 2
92090662399. 3
92090662400. 4
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